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QUESTION 1

Universal Containers acquires a company that runs an application on Google Cloud Platform (GCP). TheGCP
application needs to communicate securely with a Heroku application. The Heroku application has Internal Routing
enabled and is running in a Private Space.

Which two recommendations should an Architect make to satisfy this use case? Choose 2 answers.

A. Ensure that the Private Space and GCP use distinct CIDR ranges

B. Disable Internal Routing on the Heroku app.

C. Ensure that the Private Space and GCP use matching CIDR ranges.

D. Establish a secure site-to-site VPN connection between the Private Spaceand GCP.

Correct Answer: AD

Here is the https://devcenter.heroku.com/articles/vpn-private-space. google-cloud-platform#manual-setup

QUESTION 2

A customer\\'s IT department will not allow VPN access through their on-premise gateway. Users need to be able to
access trusted Heroku applications only when they are in the office. These applications are deployed to a Heroku
Private Space.

Which two Private Spaces features should an Architect recommend to enable on-premise users to gain the access they
need? (Choosetwo.)

A. Stable outbound IP addresses
B. VPC peering

C. Internal routing

D. Trusted IP ranges

Correct Answer: AD

QUESTION 3

Universal Containers is preparing to deploy a high-volume production web application to the Heroku Common Runtime.
Which two best practices should an Architectrecommend for large-scale load testing of the application? Choose 2
answers.

A. Open a ticket with Heroku support for approval.

B. Move the apps into a Private Space to provide an isolated test environment

C. Disable autoscaling to prevent applicationstartup overhead from skewing results
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D. Ensure that the application runs on Performance-tier dynos
Correct Answer: AD

https://devcenter.heroku.eom/articles/private-spaces#trusted-ip-ranges

QUESTION 4

Universal Containers has multipleHeroku applications that use the same Heroku Postgres database. One of those
applications, SFDC-sync. uses Heroku Connect to sync the data between a Salesforce org and the Heroku Postgres
database. If the SFDC-sync app Is deleted. Heroku Connect will stopsyncing data. What is another consequence of
deleting the SFDC-sync app?

A. All tables synced with Heroku Connect will be removed from the Heroku Postgres database

B. Existing data will remain in both locations.

C. All synced objects will be removed from the Salesforce org

D. All tables will be removed from the Heroku Postgre database

Correct Answer: A

https://devcenter.heroku.eom/articles/privale-spaces#lrusted-ip-ranges

QUESTION 5
How arelanguages, buildpacks, and slugs related?

A. A slug and a buildpack are sandwiched together between several Heroku add-ons, and the result Is a new open-
source language.

B. A slug is a shortened version of a language that compiles down into a buildpack
C. A buildpack knows how to compile code in a specific language down to a slug that runs on Heroku
D. A language uses a slug to deploy buildpacks as a service across the entire Salesforce Platform.

Correct Answer: C
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